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(a + b) fi

2.6) P : &0,3),  Q : c%-2p4)

9.. de,Q) - &.3-l)2+(-2-O)2+(4-3)2  - 3

2.7) P : Ca, a-b, 0), Q : (D, a + b, 1)

.*. d (.P,Q) - /(O - a)2 + ((a + 6) - (a - b))2  + (1 - o)2

0 a2 + 4b2 + 1

2.8) P : (l, -i,3,-41,  Q : &1,0,-4)

l *- d @�,Q)  - Jc2-1)2  + u - (-2))2  + (O-3)2 + (-4-C-4)j2
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:. d (A,B) = &-3j2 + (~-1-2)~

=?G = 3.606

d @B,c)  = J (O-1)2 + (l-(-l>)"

= fi = 2.236

d (GA)  - J (3-o)2 + (2-J)2
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qfdfmunu  x 80 C4,Q



nlpihllnu  Y(
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nmhou  r&md%
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6 . 4 )  m?ulhrRn  - 3

r&vmniapihtnu x LJuyUJ?U

gnthunu x Ro CO,O)
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r&~wn%pffuunu  x ri!bp&u

gn#nunu  x lo (6,O)
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6.6) n-rlllffuk  1

r&mn%pdiuunu  x ~ihquunau
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6.7) n-~~ud\r%~  -1

r;iunm?u@uunu  X ribp~&iu
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qn#nunu  y l o  CO,31
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Ildu  k = 3
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.
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5
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n7qnQinwm  X 16y = 0

.
. . 3(x) + 2(O) = 1 8

X = 6

qdhunu  x fli3 (6,O)
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Y = 9
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rmln;'1 L :1 5x + By - 20 Qlmunu  X dqn  C4,O)

uae#nunu  y
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H2 - {(X,Y)  I4x+yz40)
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tml+l Ll : 2x + 3y - 6 htnu  x Ain (3,O) uaml
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t7-lG-h  L-1  : 3x + 2y - 18 9lnunu  X dqn (6,O) hw~u  Y
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diu n7mhu B1 ii?lon4wowzytud(asn  (0,O) n&w  (Kqrl)
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do 5x + 8y s 20

3x + lay 5 1 0
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*In L(x,y)  - 3x + 4y

dqn  A : @,O)ln'L(O,Q) = 3(O) + 4(O) = 0

Aln B : (O,l)lr;L~O, 1) = 3(O) + 4Cl) - 4

fhn c : (9 , O)lGL(T , 0) = 3 (9 + 4(O) - 10



I40s n~R’~r;oudqnunu  L (x,y) - 4x + 6y

rdo 2x+3yr6

4x + y 240

x z 0, Y20

vln 40 1.9 4hGtl¶,rJ,Chr

9-m L (x,y) = 4x + 6y

dqn A : (0,4O)\;L (0,40) - 4(O) -+ 6(40) = 240

dqn B : (10,O)lr;L (10,O) - 4(lO)  + 6(O) - 40

rrU&n'l  L (x,y) = 4x + 6y Buaanna'o\rrrurdou't~~~nd?=dr;7c~nrJu  40



3 x + 2y 5 1 8

x54

y<6
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I

‘I+.p.l~~U convex polygon %I A B C D E

Tnu A fhnn~~,u(~ti?,~  (0,O) , B dl~ooi~tuci,rfh~  (0,6)

E dbm&i~~~tiSU  (6,0)

mlnon4i ~uvwou c du ~ffvmn r-&wmdudaun75  rjll

3x + 2y = 18 Ku y = 6 ffvlfib

qqn 3x + 2y = 18 - _- - - _ _ - - _ - - - -(I)

Y 5 6 --_.s__---__-_  m(2)



unu y = 6 aq‘lu (1)
.. . 3x + 12 - 18

X = 2

.. . bmn;firumunu  C No (2,6)

#i& ~nooi0i~~~~.1~u  D %I (4,3)

9-m L(x,y)  = 3x + 5y + 10

dqm A : (O,O), :t L (0,O) - 3(O) + 5(O) + 10 - 10

Q(qm B : (0,6), :. L (0,6) - 3(O) + 5(6) + 10 - 40

dqm C : (2,6), :. L (2,6) - 3(2) + 5(6) + 10 - 46

dqm D : (4,3), :. L (4,3) = 3(4) + 5(3) + 10 - 37

dqm E : (6,0), :. L (6,0) * 3(6) + 5(O) + 10 - 28
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q&i0  4) li&qnyuuou convex  polygon  uour?hu‘luXunA~fl~n

A: (O,O), gn B : (0,6), gn c : (2,6), 3" D : (4,3)

uargn  E : (690)

wn L (X,Y)  = 2500x  + 2300 y

dgn A : (0,O)G L (0,O)  - 0

dgn B : (0,6)1;  L (0,6) - 2500 (0) + 2300 (6) - 13,800

alqm c : (2,6)%  L (2,6) - 2500 (2) + 2300 (6) - 18,800

+I D : (4,3)X L (4,3) - 2500 (4) + 2300 (3) - 16,900
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